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MANAGEMENT (PAPER-II)

Time Allowed : Three Hours Maximum Marks ; 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Assume suitable data, i1f considered necessary, and indicate the same clearly.
Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted 1n sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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1. (a) U& IArad FAT A TH 971 === TSR e S W@ 2| A9 6919 AhEam 9am & fog

Je Iz futfE @ =

gdl & Toh 36 Toii=A forell fafere o1y wge =01 s1uan qufi oy wEl =)

JUR ¥Y ¥ gE QT | HHIA1 TH F0 GRAA] %1 Fgiess T (¥99d) oal 8, fen Jwfs
F1 qatactieh fohar 8, T FAfaRad aioms W aar B 1 - (x2) T0er &1 3991 &id

gu Frsd faepifery (6 wasdn 6 & 1d 5% Fidehdl T W HE-EEW (%) T sifad 9H

12-592 8) :
A 978
20 9@ 4 20-39 40-59 60 3R 30 IR
geifad yge f&ar 320 80 110 200
gAfaT 9199 4T 50 15 70 60
qeTe 30 5 20 40

A movie producer 1s bringing out a new movie. In order to map out his
advertising campaign, he wants to determine whether the movie will appeal
most to a particular age group or whether it will appeal equally to all age
groups. The producer takes a random sample from persons attending the

preview of the movie, and obtains the following results. Use v* test to derive

the conclusion (for 6 degrees of freedom and 5% significance level, ¥* critical
value 1s 12-592)

10

Age groups
Under 20 20-39 40-59 60 and above
Liked the mouie 320 80 110 200
Disliked the mouie 50 15 70 60
Indifferent 30 S 20 40

(b) TH T3 HUH T 1000 Wehi¥l-sied, fSahl 3fmd g 120 feq 7, &me w8 3Rt 3y 4

(c)

20 ¢4 & AFS e < 1Y 9H ¥4 4 T9dikd 81 90 691 € &9 9899 8 fhdd dcd (9 T
STEN? afe |t Sedl &l TREIY F §edAl 99 TR S v, @ 08 gqg giarymd o &g fea
TS @1 AU fob Wiqemoq € 98ad 10% 8 918l sod @0« 4 817

1000 lightbulbs with a mean life of 120 days are installed in a new company.
Their length of life is normally distributed with a standard deviation of 20 days.
How many bulbs will expire in less than 90 days? If it 1s decided to replace
all the bulbs together, what interval should be allowed between group
replacements if not more than 10% should expire before replacement?

(i) To o Hio &yfl 3rqft arfde wrravgFaien H 36000 3&EA # 6 frwml 4 w@ied )
T §hTS bl @G T 1 B 3N AT HW Hl AV 3HE Jod F 20% 8| IGHA HIA
(z=a=eht) Hfifa = g/ Fa arfde S @ i) sEifE eifd w1l aisa & g
ferafl gafy a9 S Al 27

AT H ~7)—cH GeHT] 35 2

10


https://prepp.in/

www.prepp.in

prepp

Your Personal Exams Guide

ABC Company buys its annual requirements of 36000 units in 6
instalments. Each unit costs € 1 and the ordering cost is estimated as
20% of unit value. Find the total annual cost by the existing inventory

policy. How much money can be saved by ‘Economic Order Quantity’
model? S

(i) Taea famy oean & d3d 7 S wiaty (Tramgfa) =1 wwzmgu
Explain DMAIC methodology 1in the context of Six Sigma Quality. o

(d) s gudm o (3mo To o)’ il 3avdehal Td faly | 9= HIfNT| I8 WRET o
o SfiEq-9% (Tho Slo Telo Hio)' | fohe Wb 194 27

Discuss the need and method of ‘Rapid Application Development (RAD)’. How
does it differ from the traditional ‘System Development Life Cycle (SDLC)? 10

(e) FA Thtehl GRATH a1 3TBo o WYH AEHRIS YA o 36 T H, HSHIHS HEHL,
STEETRes TishaTd qe i a1 S SIS av fohd aig Wi /1 1@ 8¢ 9=l shifeg |

In this age of rapid technological change and IT enabled business processes, 1n
what ways are the organisational elements such as organisational structures,
business processes and work flows getting affected? Discuss. 10

2. (a) TH HUA QY I9E FAew! IR A FAl 8| B! I TAH oI5 bl T AT A 1 He
q q&1 TGl b 2 T ] ITERIhd] BIdT &, Selich S1e] hl Ycdeh Fehlg hl AT faqmr H 2 92
Td 481 Heigl 1 1 U1 TG a1 8| A 91 AeH 7 ot 61 wefifm gwen 720 = U9 3@
TS % 780 e Tk Bl HIHd 8| Tk WM hl A A FeH 1 320 ° ST THE 48§ W
gehdl | STfererae &9 & T s8ad Icqie Taswl wa sfitrsad ey &1 fAuior e 3w &6
Y Sh1E ANEH & 6 g Yfd g1 el o IreH ¢ 4 g ey fafy =1 wam fifso)

A company manufactures two products ‘Alpha’ and ‘Beta’. Each unit of Alpha
requires 1 hour of machining and 2 hours of skilled labour, whereas each unit
of Beta uses 2 hours of machining and 1 hour of skilled labour. For the
forthcoming month, the machining capacity is limited to 720 hours and the
skilled labour is limited to 780 hours. Not more than 320 units of Alpha can be
sold during a month. For the maximisation of profits, determine the optimal
product mix and maximum profit. Unit contribution from Alpha is € 6 and
from Beta is ¥ 4. Use Simplex method. 20

(b) IAAEF A FEen feSigd (W = fesigd) o ARy ged ° “3msH €fe &M 6l A
TEET hl q&Tdl H == HIU|

Discuss the supply chain efficiency of ‘Amazon.com’ with special reference to
international supply chain design. 1.5

ASTH D —eH GeHT] 35 3 [ P.T.O.
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() @mgo Ao Hlo I TH Ae-yId FEATER $-urer e B A fFE™] 1 3R] T
st A SR YeH Al 2, R 39Em W 3 T Ieaeshdl H e, Hed WiH A gur g
S o & wOrd G 31 7 g TREE Saiire Ol sEeRi, Hem qElHE qe S
arg ¥ A o ot AFEE TR S T e ® E ) § 9 R ashd € 3 -
ST W H TEels WA H Faw B engfd o awged i wle B gl sem e g

mieet § T ¥ R W SIS HeEd g, da v F fou uE ug@E feeE -

oS S ST S SRR ueledt iR el 6 o satwets 1 R F B

i) S-Te gEl Hi-enuria aée A fRw yer i R

i) =TH WER -G womell H T hd qed fha e I I Ta=ar H W
Sl

(iil) 38 YHR F T GEAA $ (T BH-H FE HgEgl erl! 3Tl iR W gl i

ITC had come up with a web-based initiative called e-choupal which offers the
farmers information about products and services they can use to enhance farm
productivity, improve price realisation and reduce transaction costs. Farmers
can access local and global information on scientific farming practices, weather
forecasts as well as market prices, all in Hindi at the village choupal. e-choupal
also facilitates supply of farm inputs and purchase of commodities at their
doorsteps. In order to overcome the constraints at the village level, this model
is designed to provide service support through a lead farmer designated as
e-choupal coordinator who acts as the interface between the compuler system
and the farmers.

i) How is e-choupal different from other agri-based portals? D

(i) What technological aspects should be considered while designing such a
web-based system? 5

(iii) What factors would be critical to the success of such a venture? Discuss
thelir role. 5

3. (@) Tova &) oed o) Yo, A 3 A Fegelidd TR Jorel (e 37io THo) &1 ARH 1986
e ¥ fR 1) 9d9E ¥ W % 750 TWE W Hie 3R THo ZfHAA 3IUTY B 3N 97%
e = WOTeR T B @ ¥ 2 R () A afg < a9 @ R W 7 Tkl e
qorel I SR T S @ e A fafim s wo e Ahe deed A faafa e
=g gy SfeTA Yo Fef Ug gfow Sl (3Mge 3o Hie o o) 3 ga-3NTid 122
g’é‘an 394 94 ¥ige http://www.irctc.co.in F g0 URY H & S TR wE faeom % Tau
Ho 3o THo ¥ fiad i (AF 1) ¥ o= Tl =)

(i) 22 iR F1 87 IR % dio 3R THo ¥ foiu 221 gumher foham eyl 27

i) wEE 1@ i Ho #Re wo Hefl faafa 22 wonell H Sl TEEd 3R 2 BIAGY
YU B9 he 17

i) T faeme Sfe fafa Seem qonel % F%e JeTe ¥ TU 3-8 U8 Ty &7

A~ —r"//”/rffﬁ“fﬂ'ﬂ 35 4
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Indian Railways, the world’s largest railway, had introduced the Computerised
Reservation System (CRS) in one location Delhi in 1986. Presently over 750
locations all over the country have CRS terminals and 97% of the reservations
are done through this system. With increase in data load, the Indian Raillways
adopted a decentralised databasc system approach with the data sprcad over
multiple mainframe computers installed at various places 1n the country.
Later, Indian Railway Catering and Tourism Corporation (IRCTC) introduced
web-based ticketing through its web site http:/ /www.irctc.co.in which hnks to
the CRS at the back end for transactions.

(i) What is data integration? How crucial 1s data integration lor the Indian

Railways CRS? 7
(i) How do we manage data integrity and data redundancy in a distributed
data system like the Indian Railways CRS? 7

(i) What aspects would be critical to the successful running of such a big but
distributed database system? $

(b) ‘“uifemdl axgl & TEATCHE YA ®, Thed Bl 9o S b wearerE w9 0 NG @ wiferd T8

2317 29 U7 % WE I Td ae) &k BH-8 GEAHF Fe "ifeadl 2, e Ty fifem)

“Statistics are numerical statements of facts, but all facts stated numerically
are not statistics.” Clarify this statement and point out which numerical
statements of facts are statistics. 10

(c) TH &0 TA® 8 TS H Ul H 192 IHFA H IUEA vG UF HHIER @lgd (el @mE)

wifyd @ w1 @ 2 FefaRas qroft $E-a=l, 9@ @ desias gdaldal wr R
FIA R
- qHY (Hehe H) dTcehifcr s Yaad]

A 40 Fig AT

B 80 A

G 30 D E I

D 20 M3

E 20 B

F 15 b

G 120 A

H 145 Cr

I 130 H

J 115 Cy 1

FA 720

(i) dfea 9% 99 (Hhe H) okl T Rl |

(i) TIAI ] FAdH FE&I1 HI1 87

(iii) JEvedl ANE@-TE sl GEAT SN |

(iv) RO FRI TTH &A1 U9 Y faerm (Sd-8 o) & o =i )

T =D=M G M ET] 35 5 [ P.T.O.
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A company is setting up an assembly line to produce 192 units per 8-hour
shift. The following table identifies the work elements, times and immediate

predecessors .
Work element Time {In sec) Immediate predecessor(s)

A 40 None
B 80 A

& 30 . B, B
D 25 B

E 20 B

F 1.5 B

€, 120 A

H 145 G

I 1.30 |

J 115 oM

Total 720

) What is the desired cycle time (in seconds)?
(i) What is the minimum number of stations?

(iii) Draw the precedence diagram.

gt U1 o An

(iv) What are the efficiency and balance delay of the solution found?

s :

4. (@) (i) UH HG & [GFOE @ T EHa % Frafafaa o ifee i g @1 |mra: v amE
W%ﬁﬁﬁﬁm@J%l%ﬂWHWQWWW%WHW&mmqaﬁw“lcgvdqa{'ﬁ

ol ma '{[Uﬂ% CARILEL ?n‘:lﬁl'ﬂ, ;

g fasrgd @+ (B9IR € °) fasa (3TE 1)
SEEL 50 1200
EXGE 60 1500
T 70 1600
3 90 2000
P E 120 2200
S 150 2500
SSIE 140 2400
3T 160 2600
Taaer 170 2800
IR 190 2900
BELe= L 200 3100
TG 250 3900

ST =)~ MG MT 35 6
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The following are the monthly figures of advertising expenditure and sales
of a company. It is found that advertising expenditure has impact on sales
generally after 2 months. Allowing for this time lag, calculate the

coefficient of correlation : 10
po— Adv{?rtising expenditure | .S‘ale:s
(in thousand ) (in units)

January S0 1200
February 60 1560
March 70 1600
April | 90 2000
May 128 2200
June 150 2500
July 140 2400
August 160 2600
September 170 2800
October 160 2900
November 200 3100
December 250 3500

i) 2E-1 wE TrRu-Il YRl @ W F wHed B¢ <Ml fRw e T welfvd g7 TR
gffefaal % afarta o9 2rga-1 I & 1 =t ? =17

What do you mean by Type-l and Type-Il errors? How are they
interrelated? In which situations, you would not like to commit Type-I1

error? Why? o)
(b) T afE veas 3 T = afEis 6 T frafalaa semegul sreRiar TR e
gAY 379 (9HTE W)
. - I SEL
Tfafater 3TITETE] gafferes gyrfad EAIICIG] -
A ] 4 7 —
B 2 6 7 —
C: 5 3 6 B
D 6 13 14 A
E 3 6 12 A i€
F 6 16 B
G 1 5 6 E, F

() M- (To 3o TWo) Yy gr1 “eash xatam (sraum) =gy | wedsh ety & ferg
gyTfad T9g TE WERYT w1 VT hiig |

) R nfafafy el @ swEm w5 gy afafatt sl oo fiie @ srias T
e s |

(i) 23 wHrE & et afESET el FA o TRl 1 g

SGTH -~ GeHET ] 35 7 [ P.T.O.
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(¢}

(D)

(c)

A project manager gathered important information for a new project which is
given below :

Time estimates (in weeks)
Activity Optimistic Most likely | Pessimistic immediate
predecessor(s)
A 1 7 _
3 2 7 _
& 3 3 5 5
L 6 13 14 A
£ . 12 A, C
F 6 16 B
G : 6 E, F

() Draw the network diagram by Arrow-On-Node (AON) method. Calculate
the expected time and variance for each activity. 5

(i) Calculate the activity slacks and determine the critical path using the
expected activity times. 10

(i) What is the probability of completing the project within 23 weeks? o

“So 3o o WUNTerdl STME T Ga4E W9 =TI T 3T Bid 21 9 Y o AT9elh
gl 1 faa=Ar s

“ERP systems are usually based on best management practices.” Comment on
the practical implications of this statement. 15

"us—B / SECTION—B

&1 ST GrasTieh faael Jormef! & gR1 Hed Ud faawor o srdehrg o < 9e 7 27 399 S &1
i fag Fifs

Are you 1n favour of government control over price and distribution through
public distribution system? Justily your answer. 10

& e gig wd faera & fw gde dto Site 1 fohE YR Wigs 27

In what way is the LPG era instrumental for the comprehensive growth and
development of the nation? 10

“ AP R | 9 -9REhide YHYT T gAYl 6 ) 17

“Multi-cultural management is a challenging task in international business.”
Why? 10

AT~~~ 7 M T 35 8
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(d) SR FIS FHY AGSHT AU 1 ATUTRI IRY HAl &, T I 1 ATUFN 1 JSUT A o

feru Torm 9itd 31 w=a1 den e 99 o aiads e gin?

If a company starts acquiring unrelated businesses, in what ways should it
change its structure and control mechanisms to manage the acquisitions? 10

(e) g ufdmueiens IR+ dEsE TR "l I W I WHE W §1 [ % AT AT
gopeht 1 {3 worfifas gsaet 9 aee fid @ 7 ==l i)

What strategic competencies are helping Maruti Suzukil to maintain its
dominant position in the Indian Automobile Industry in spite of the fiercely
competitive market? Discuss. 10

“ard § 92 FONZ WA, oY I THEI], HeH Td g9 IUHH T Id 8| wRaE fafEmes
STl Ua Taeg st &) g fafys meer o radiiass 9uEl &6 9811 e o T wiegiied

HI1 ST 21

I wheH 6 T B FAfaiag geE & I AT

(i) &9 Z % afd vRa TR Hifd 1 == i)

(i) 1 UHEG AGEde el ol Tgehdl Wi o foly 379 == gera 17

“India has corporate giants, small-scale industrial units, medium and micro
enterprises. Indian regulatory bodies and funding agencies are encouraged to
support all these business houses of different sizes.”

In the light of the above statement, answer the following questions :

(i) Discuss the policy of the Government of India towards small-scale
industries. 10

() What would be your suggestions for the congenial growth of all these
segments of busimess? 10

(b))  “u sifam favdgm ufgufer s @ B oy wer g veita el g w0
(i) U Sifign Taveige W hizd Y@ Al W ThR Siely|
(i) HiE TUE b T TR favemor T awg Sumidl g e

“Country risk analysis assumes that a country is a purposeful entity managed
by a government.”

(il Bring to light the major dimensions focussed in country risk analysis. 10

(i) In what way is this analysis helpful to corporate houses? 10

ATH ~ D~ ST 35 9 | P.T.O.
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() o ‘ghd waaola g8 i smn % o wuie Wil ®sen gen et g6 | O el
&1 ==t Hiiu|

Should ‘green’ environmental issues form part of the corporate strategy of a
business? Discuss the pros and cons. 10

7. (a) SOARE F A9 ARSI F IR A SEREQ), IUARE AE bl FH TF IHAIH Gl i

3fa qe= A e I % U0 el FEE @ R 3l g AtufrEm, 1986 w1
ol

(i) SasreR SR, fSeR e g1 =ie, Sl TE IS |
(i) R YRR % 3UsTRT ATQTeA ) afed 38 sfufEn 3 ) el
(iti) IR ELETTT T I9TTHT TEAl 21 fHeRl i ==l IS |

“Ignorance of the consumer of her rights, lack of consumer movement and lack
of due recognition to the consumer organisations have been some important
factors which led to the enactment of the Consumer Protection Act, 1986.”

(i) Specify the consumer rights to be protected. 5
(ii) What sort of consumer movement has the Act contemplated? 5
(i) Discuss the role of consumer organisations in consumer protection. 10

(b) D TS O] WE Bl UL R TER F GHd 87 ITH A T T $H-H wHITAE]
3re Ahe] ST

How can service organisations internationalise themselves? What strategies
would make them successful in their endeavour? 15

(c) aTeueRs Wl gitEdA % | wHEy g€t B gu Wl 98 ® Teyul § 3K 39 Wishdl
el -wifa vy @ & fon =0 e s g &7

Given the problems associated with prescriptive strategic change, why 1S 1t
important and what can be done to better manage this process? 15

8. (q) THIfGE IEsE fafite % uh deeyd wew A Hliie wed H fakedr & fag @y geEme-

* oy ™ ™
g=d &1 3ATAraAT i 2

fi) TR TTEA ) Taher % fag 3R 0 HRon Sdie /7 @1 3 RO 3 R
(ii) *T<e AN WTEA o HITh! Hi T HINC

One of the founders of Infosys Technologies Limited has made criticisms
against the Board of Management for the failure in corporate governance.

(i) What reasons has he quoted for the failure of corporatc governance? Are
these reasons justifiable? 10

(i) Specify the standards for good corporate governance. 10

CASH D =M T 35 10
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(b) ‘R 3o fo st Afvas wUR § 9%5d 21

(i) 3Rl ST THAd] & TTU Y 97 ShR0T Sardd?

(i) <fvas Iudrmel H 938 v 4 ardE T e e do wufal 4 fre we fiss
® 8?

“Indian IT companies are successful in global business.”
(i) What reasons would you focus for their success? 10

() In what way i1s the Indian manufacturing hub lagging behind IT
companies in satisfying global consumers? 10

(c) Hd Td IHd qfEdtadl & " HAR® K GEeA Wil FEimstt & fae & geegel R0
glidequicRs oY 981 1 & T 399 |/ S S91e1 Hegul g 3R =17

Why is it important for strategy makers to understand the difference between
tangible and intangible assets? Which one is more important in creating
competitive advantage and why? 10

* K K

AT~ —eH GeH ] 35 11 SB8—330
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